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OR (3121a1)
A 8-pole DC shunt generator running at 500 rpm

delivers current to a load of resistance 12.5 Q2 at

250 V. 778 conductors are arranged in wave winding
of generator. The resistance of armature and field
winding are 0.24 Q and 250 Q respectively.

Find

(a) Armature current

(b) Induced emf

(c) Flux per pole

Ueh 8—gdig fase orRT SIf= 500 rpm @Y wfd

d T ST 8 9T 250 diee WX 12.5
gftRlgr @& wR & a7 <ar 21 9= ¥ 778
qrdd T Hsd ¥ dAIfora @ AR aon
a3 Hsd- BT YfaRie S 0.24Q AT
250Q0 = | IUHET BN |

(@) ATH=ER aRT

(@) uRa faodio ga

(1) ufd ga werad

9. Explain briefly Hopkinson's test for determination
of efficiency of DC shunt machines. 8
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Brafe—a+ wdeger o1 e faaR gde o |
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Time : 3Hrs. Sem - IV -E
EM/C -1

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift o9 yeal @ SR <, UAS U &1 99 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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Distinguish between eddy current loss and
hysteresis loss. How to minimise these losses?

Tav oRT 819 vd faedfRg sify & sfax
s B | 59 BT B DA BH B 2

OR (372rd)
How to find critical resistance for shunt generator.

vie Sifa &1 fohfeda ufaRia 9 fAered
B?

Derive the equation for E.m.f. of DC machine. s

fose aRT 99 @ fdodlo 91 & U wiidHor
foreTet |

OR (3121a1)

Calculate the emf of a 4-pole wave wound generator
having 45 slots with 18 conductors per slot at 1200
rpm. The flux per pole is 0.016 wb.

1200 WR ddl Tl U 4—gd ORI Hsfad
S 8 45 @id @ w9 S Fidar 4 18
HAESH B, B fdodlo I B TVET WX wafd
gfd ga oeia¥d 0.016 4R 2 |
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(i)

(iii)

(iii)

(iv)

3 20402

Sad 3k Rruddd du arsfer @
H¥gex g e AR
Bl ©

(31) 4 3R 2

(@) 2 3fv 1

(|) 4 3} 1

(®) 2 3k 2

A DC generator without commutator is a :
(a) AC generator

(b) DC motor

(c) DC generator

(d) Induction motor

Ud Slodlo WA fdAT e &
BIdl ©, U :

(31) Qo?-ﬁo NIEE

(@) SroHlo HIER

(@) Slodflo Sif

(%) 9T HieR

In a DC machine 72 number of coils are used.
Find the number of commutator segment
required ?

(a) 36

(b) 37

(c)72

(d) 74

P.T.O
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Answer all Five Questions.

(xx)  Pole shoe of Dc machine is laminated for the
purpose of.
(a) Decreasing eddy current loss
(b) Decreasing hysteresis loss
(c) Decreasing both (a) and (b)
(d) None of these

xx) fpdl fase arRT I3 & diad—3] $I
dAfiFiec & &1 SR -
(31) HWaX grT B &9 A & forg
@) e 1y &9 v @ fayg
(&) <= (1) dur (@) B A D forw
() 1 9 BIg 78

GROUPB

5x4=20

afl uig 9 & SN < |

2.

Compare between the action of motor and generator.

Hiex ©q wifa @ fpar &) qasn x| 4

OR (3121a1)
How does the rotor of a Dc motor rotates,
explain the principles involved.
fasg aRT AleX &7 WX DY gAqT 2,
sH e Rigia & e ;g" |
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(vi)

(vii)

(vii)

(viii)

5 20402

U®h Slodlo #ME # 4 Ui ol S5t
BT SYAIT BT 8 o IR urer &)
e g |

(@) 2

() 4

(|) 1

(|) 8

The yoke of DC machine carries.
(a) The pole flux

(b) One half of pole flux

(c) Two times the pole flux

(d) None of these

Stotflo 7T &1 AP T84 HRAT 8-
(31) diel Feldd & aRTER

(@) Ulel ¥I9E & 1.5 IO

(|) uid ¥eladd @ 2 Iom

(@) s 9 BIg €l

In DC motors the polarity of inter poles is :
(a) Same as that of the main pole ahead

(b) Same as that of the main pole behind
(c) Opposite to that of the main pole behind
(d) None of these

P.T.O
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(xvi) Lap winding is suitable for .............. current

(xvi) AU H e SUYId BT @ .o IIRT

............. voltage DC generator.
(a) High, Low

(b) Low, High

(c) Low, Low

(d) High, High

............... dieeol Slodlo WFReY @ forw
(31 8=, =
(@) =1, S=a
(@) foe, foe
(]) S=a, S=a

(xvil) In a DC generator , the e.m.f. is directly

proportional to the:

(a) Field current

(b) Pole flux

(c) No. of armature parallel paths
(d) Number of dummy coils.

(xvii) SloHlo SIMReY # IdIfed fdodro ga

=1 & gurgurfa giar 2 |

(31) wies grT

ORIGR G

(|) sifdaR WRald UTT B FEdr
(]) s Taraa &1 AT
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(x)

(xi)

(xi)
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@) Aex wrd T8 'l @

(@) T TEH} U A AfSrd B wrh @

(]) w8 @Ra 81 4 9gd A @
odr 21

In regenerative braking

(a) Motor is disconnected from supply during
braking period

(b) Motor is working as a generator during
braking period

(c) Energy generated is fed back to the
supply line

(d) Both (b) and (¢)

RormRfeq dfeT o

(31) dfpT 9T A Aler BT AwIls AR
| wre fear oar @

(@) dfHT g ¥ A SRR B qRE
BT HIAl 8

(W) SO ST DI Y: WAls oAlsd d
A9 fear srar 2@

(=) @) @ (W) <=
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10.

OR(37214)

A DC shunt generator supplies 96 A at a terminal
voltage of 200 V, the armature and shunt field

resistance are 0.1 Q and 50 Q respectively. The iron
and frictional losses are 2500 W. Calculate.

(1) Emf generator

(i1) Copper losses

(i11)) Commercial efficiency

TP Slodlo e Sifd 200V & cfifde dleew
TR 96 A @I &IRT U< Hxdl ¢ | ATHaR Td

vic Bies & UfaRIg HAA: 0.1 Q TG 50 Q
2| <ilg ud gdur gt 2500 dre @ 0T
B |

(@) Saurfaa faodioda

(@) amm st

(1) HulRtae <ear

Draw a neat sketch of a DC generator. State the
functions of each part. 8

fese a1 SiIf 9 &1 W@oo IRE Raa 3R
Jadd I D HrAl P AT BN |
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A DC shunt generator supplies 96 A at a terminal
voltage of 200 V, the armature and shunt field

resistance are 0.1 QQ and 50 Q respectively. The iron
and frictional losses are 2500 W. Calculate.

(i) Emf generator

(i1) Copper losses

(i11)) Commercial efficiency

TU$h Slodlo e Sifd 200V & <fifde dlcew
TR 96 A @I &IRT U<l Hxdl 2 | JAHax Td

vc Bles ® UfaRig HH: 0.1 Q TG 50 Q
2| <iig vd gy grfe i 2500 dre @ 0T
N |

(@) Scurfad fdodrodgd

(@) amm st

(1) HulRfae <&an

Draw a neat sketch of a DC generator. State the
functions of each part. 8

fese a1 SIf A &1 Woo IRE Raa iR
YaAP I D PIAI B ARAT X |
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